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1. Let R betheregion (asshavn) boundedbyy = —+1, y = 3z, andz = 2.
x

(a) Findtheareaof R.

(b) Find the exact volume of the
solid that resultsfrom revolving
R aboutthey-axis.

(c

~

Set up the integral requiredto
find the volumeof the solid that
resultsfrom revolving R about
the z-axis. Do not actually eval-
uate the integral. 2

2. If y = zarctan ( ) find '. (Do notsimplify.)

3. Evaluatethefollowing integrals.
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4. Calculatethefollowing limits.

-z In(z? + 1)

(@) lim Jim n(z+ 1)

z—01 —

(b) lim, (1 22)'/*" (¢
cos 2x z—0+

5. Determinewhethertheseimproperintegralscorverge or diverge: if aninte-
gral converges,give the exactvalueof theintegral.
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6. Fndthesolutionof thedifferentialequation
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7. Forthesequencday} = T , determinewhetheror notit is con-

vergent. (Justify your answer)

8. Calculate(if possible)thesumof theserlesz ﬁ
n n

9. Classify eachof the following seriesas convergent or divergent. (Briefly

justify your conclusions.)
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10. Classifyeachof thefollowing seriesasabsolutelyconvergent,conditionally
corvergentor divergent. (Briefly justify your conclusions.)
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11. Determinetheintenal of cornvergenceof the series
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(a) find thefirst five termsof the Maclaurinseriesfor f(x),
(b) find then!" term,andexpressthe seriesin -notation.
(c) Whatis theradiusof corvergencefor this series?

12. Forthefunction f(z) =
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